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Identify the cuboids which have a volume greater than 100m3
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Solving problems involving ratio and
proportion

Discover

Ineed to make dinner
for 6 people!

o @) How many grams of curry paste does Toshi need for 6 people?

b) Toshi has 4 peppers.

Does he have enough peppers to make the curry for 6 people?

Twill find out how much
Ineed for one person
and then multiply by 6.

[ sror- T

@) Toshi needs 48 g of curry paste for 4 people.

He is making the recipe for 6 people.

48 g curry paste

—————
For 4 people ﬂﬂﬂn
forspeope (2] 2 [ 2 [ 2 |2 ] %)

A

\
Inoticed that

-— what Toshi
? curry paste needs for 6
’ . people is the
For | person, Toshi needs 48 + 4 = 12 g of curry paste. Lotcanivtul

4 people,

For 6 people, Toshi needs 6 x 12 = 72 g of curry paste.
plus half.

Toshi needs 72 g of curry paste for 6 people.

b) The recipe uses 3 peppers for 4 people.

person | person | person | person
[ | )

==

$of 3 peppers is |5 peppers.

| e ] e e el |

3415 = 45 peppers

Toshi needs 45 (4 and a half) peppers. He does not have enough to
make the curry for 6 people.
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Solving problems involving ratio and
proportion
o 5 pencils cost 60p.

How much do 7 pencils cost?
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7 pendils cost[:p.

e Eight identical, square paving slabs are laid to make a patio.

Iam going to change
the length into
centimetres to help me.

18m

The length of the patio is I8 m.
What is the perimeter of the patio?

The perimeter of the patio is C] m.
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9 Toshi is making pancakes. He uses a recipe for 4 pancakes.

Pancake Recipe Pancake Recipe
prs Mokes 2 pancakes
g flour
100 g flour

. -
300 mt milk ( Jmtmitc
Itbspoll Dﬁxp oil

@) Complete the recipe for 12 pancakes.

b) Toshi wants to make 10 pancakes. How much flour does he need?
100 g flour

[ ——

epncakes (T T T T T [ T T 1T

b

2 flour

Toshi needs (] g of flour.

<) How much milk does Toshi need to make 9 pancakes? (__Jml

d) Toshi has 310 g of flour. What is the greatest number of pancakes he.

can make?

Toshi can make [:] pancakes.




